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Adding Within 5 Name:
Solve each problem. Answers
n 2 + 1 2 4
B 1.
2.
3 2 + 0 4 2
— 3.
4.
5) 1 + 1 6) 3
—_— 5.
6.
N 1 + 3 8 5
—_— 7.
8.
9) 3 + 2 10) 3 .
10.
1) 5 - 4 12 5 1
12.
13) 4 - 2 14 2 y
14.
15 2 - 2 1) 3 .
16.
17 5 - 2 18) 5 -
18.
199 4 - 3 200 5 "
20.
1-10 | 95| 90| 85|80 | 75| 70| 65|60 |55 | 50
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Adding Within 5 Name. Answer Key

Solve each problem. Answers
) 2 + 1 =3 2 4 = 5 3

— — 1.
2 5
3 2 + 0 =2 H 2 = 4 5
— — 3.

a 4
5 1 + 1 =2 6 3 = 3 : 2
6. 3
7) 1 + 3 = 4 8) 5 = 5 ; 4
8. 5
9 3 + 2 =5 100 3 = 4 . 5
10, 4
11) 5 - 4 =1 12) 5 0 1 1
12 0
13) 4 - 2 =2 14) 2 1 13 2
14. 1
5 2 - 2 =0 16 3 1 5 0
16, 1
7 5 - 2 =3 18) 5 2 . 3
18, 2
19 4 - 3 =1 20) 5 4 19 1
20. 4

1-10 [95]90] 858075 [ 70[ 6560 [ 55 [ 50
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Adding Within 5 Name:
Solve each problem. Answers
) 2 + 1 = 2) 4 1 =
00 o oX5) 5} L
(ONO)
2.
3 2 0 = 4 2 2 = 3
00 0 00
4,
5.
5) 1 1 = 9) 3 0O =
o o oXe) 6
O
7.
N1 3 = 8 5 0 = >
o 00 o)e!
o 00 9.
o
10.
oo 00 oo o 1
O O
12.
1) 5 . 4 = 1) 5 . 5 = e
00 00 @ oo
00 00 e® oo 14.
o @ @
15.
13 4 2 = 14 2 1 = .
OO0 00 o)e! o '
(ONO)
15 2 2 = 16 3 2 =
0 0o OO0 00
O
M odified 1-10 |94 ]88|81|75[69]63] 56|50 |44 | 38|
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